4 2 I%HT J?rﬁﬁdtﬁﬂﬁt 5 H
v “ﬁ”i“ﬁ”f’ﬁﬁﬂﬁ'} %L

W g |



Hll.'.\ — 55

- E_E 1.’I-E_:[-E0

1. $8F a5 R,
65980 = (
964000 = (
79820000 = (

‘ iijﬁ‘”{/'_z

B

RV




tb‘*—\‘{%’/ I .
R KGEKBERA “F AL
e ny, &£(  MES( )
s EhE s B E® M,
L’t ii( )?? :—%—:G




2. 4B F 1A B0 S U AC7 VR B B 2L

827300000=( )
4520000000 =( )
238000000 =( )

(Je ki k8 KB SR AL B| D
ey, &£( ()| K
BB R E, ERYE & e
L’]‘_ H( )H —,-%-:D

7




= EMETHEY, B

L. 48 T 51 25 205 AL,

(D PR —17 /N
768200 =(
99720 = (

(2) PR B8 PR ZNER
52360 = (
4493840=(

2 K BUEUE,

~, iiﬁ!!{/EE

Ak

) Ji~=(
) J12=(

) J1~=(

il
) J1

) J1

) J1==( ) JI



2. 8P KBNS AL,

(DR — DL/
774938200= (

( )L
495429400 = (

( )

: ii{Z‘n{/EE




(2) PR B8 P ZNEX
2949630000 = (

( )L
635097000 = (

( )1

) AL

) 4.

.-".“h.‘_,-'

.-"-“h.-,p'



= TREKXKMBZEPRIMMIKINE XITEZEIKXPH
E{]EE% ,iﬁﬁ_lté%o

ZIKHEG | H 7 | H4Z1E
HE/km | B4/ /km | B4 /km

4— H
AT A=

KE | 57910000

& B 1.082 12

kB 22794 1




KB | 778330000

+ &2 142940 J1
~EAE 28.7099 12
i T A 45, 04 12,

Mo BR BB 2 K PH 149600000km , 37 8% /\ K47
B iz BR R 28 K FH /i 3 Koz 9 I 7 HE 1)




Qmﬁ 12 F

m 7
1

R 2 /N /) A

JL

BIE FE&EHHEF,

4”5 B 8.57



)
. = .
i =X
S sy
r “. '7 ‘\ ‘\
Y
3
e Ve »‘
)
;

: %B%‘/J\?

B

|
pa AR}

AN7JG7& 8. 07



0.002 X 10= 40--100=
0.052 X 100= 46—-—100=

4. 48 X 10= 3. 05 X100= 85 100—
4,48 X100= 3. 05 X1000= 8 X 100=



